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 ECO-06  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

December, 2021 

 

ELECTIVE COURSE : COMMERCE 

ECO-06 : ECONOMIC THEORY 

Time : 2 hours Maximum Marks : 50 

  (Weightage : 70%) 

Note :  This question paper contains three sections A, B 

and C. Instructions are given in each section along 

with marks. 

SECTION A 

Answer any two questions from this section : 212=24  

1. What are the salient features of a mixed 

economy ? How is it different from capitalism ? 

Discuss.  

2. Critically examine the law of equimarginal 

utility. Give examples.   

3. What is budget line ? Explain the equilibrium of 

a consumer with the help of indifference curve 

analysis.  

4. Explain the law of demand with the help of a 

demand schedule and a demand curve.   
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SECTION B 

Answer any two questions from this section : 28=16  

5. Define production. Explain the theory of 

production in detail. 

6. Explain the case for and against monopoly. 

7. What is long-run cost curve ? Why is short-run 

average cost curve ‘U’-shaped ? Discuss. 

8. What are profits ? Describe the sources of 

profits.  
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SECTION C 

9. Attempt any two of the following : 25=10 

(a) Cardinal and Ordinal approach to utility 

analysis 

(b) Mixed Economy 

(c) Oligopoly  

(d) Nominal and Real Rates of Interest     
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 B©.gr.Amo.-06  

ñZmVH$ Cnm{Y H$m`©H«$_ 

gÌm§V narjm 

{Xgå~a,  2021 

EopÀN>H$ nmR²>`H«$_ : dm{UÁ`  

B©.gr.Amo.-06 : Am{W©H$ {gÕm§V 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

  (Hw$b H$m : 70%) 

 ZmoQ> : Bg àíZ-nÌ _| H$, I Am¡a J VrZ IÊS> h¢ & àË`oH$ IÊS> _| 
Amdí`H$ {ZX}em| Ho$ gmW A§H$ {XE JE h¢ & 

IÊS> H$ 

Bg IÊS> _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE :  212=24  

1. {_{lV AW©ì`dñWm H$s _w»` {deofVmE± Š`m h¢ ? `h 
ny±OrdmX go {H$g ê$n go {^Þ hmoVm h¡ ? {ddoMZm H$s{OE &  

2. g_gr_m§V Cn`mo{JVm {Z`_ H$m AmbmoMZmË_H$ narjU 
H$s{OE & CXmhaU g{hV ~VmBE &    

3. ~OQ> H$s_V aoIm Š`m h¡ ? AZ{Y_mZ dH«$ {díbofU H$s 
ghm`Vm go Cn^moº$m Ho$ g§VwbZ H$s ì`m»`m H$s{OE &  

4. _m±J AZwgyMr Am¡a _m±J dH«$ H$s ghm`Vm go _m±J Ho$ {Z`_ 
H$s ì`m»`m H$s{OE &  
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IÊS> I 

Bg IÊS> _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE : 28=16  

5. CËnmXZ H$s n[a^mfm Xr{OE & CËnmXZ Ho$ {gÕm§V H$s 

{dñV¥V ì`m»`m H$s{OE &  

6. EH$m{YH$ma Ho$ nj Am¡a {dnj _| VH©$ Xr{OE & 

7. XrK©H$mbrZ bmJV dH«$ Š`m h¡ ? AënH$mbrZ Am¡gV bmJV 

dH«$ ‘U’ AmH$ma H$m Š`m| hmoVm h¡ ? {ddoMZm H$s{OE & 

8. bm^ Š`m h¢ ? bm^m| Ho$ òmoVm| H$m dU©Z H$s{OE &   
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IÊS> J 

9. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ CÎma Xr{OE : 25=10  

(H$) Cn`mo{JVm {díbofU H$s g§»`mË_H$ (Cardinal) Am¡a 

H«${_H$ (Ordinal) {d{Y  

(I) {_{lV AW©ì`dñWm 

(J) Aënm{YH$ma 

(K) ã`mO H$s _m¡{ÐH$ Am¡a dmñV{dH$ Xa|  

 


